
Addition Practice Worksheet
Name: Date:

1

9

Lina has 153 marbles. She buys 
another box of 20 marbles. How 
many marbles does she have 
altogether?

132 + 5 =

a) 435 + 300 = 735 b) 582 + 400 = 982 c) 223 + 500 = 273 d) 542  + 100 = 642

2

273 + 4 =

+ =

3

132 + 30 =
4

334 + 20 =

5

563 + 200 =

7

          + 300 = 957

6

453 +          = 753

8

Which of the following is incorrect?

10

Jay and Idris are playing a game. 
Jay scores 214 points. Idris scores 
80 points. How many points have 
they scored altogether?

20 marbles

Jay

214
Idris

80


